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31 (R12883] -G A9 703 H2)
<E—2> APE Mo 72
(2] : Jg)
M1s|=d CHE Of| A = 3z

7 =

Of| AHoH % Of| AHoH % S+l %
st A 2.666.792  100.0 2,664,947 | 100.0 1845 | 007
ABbSHE T 723742 | 272 723967 | 27.2 A225 | A0.03
dlsTxml | 1343050 | 50.4 1,340,980 | 50.2 2070 | 045
fiﬁc,ff'q 300,000 | 11.2 300,000 @ 11.3 0 0.0
A AEEA] 300,000 | 11.2 300,000 | 11.3 0 0.0

FAEE =
Z37F 0.15%<1 20774
Me SHHE A+
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A13] 5 o 0 A 5z z
2 B
o Ak % of Ak % | BUAN | %
st A | 85460462 1000 85444087 | 100.0 16375 | 0.02
Ab 9 Hl | 19612379 | 229 19478046 228 = 134333 07
XMoot | 64785583 | 759 64903541 | 76.0 | 4117958 | 402
MEES | 106250 1.2 1062500 1.2 0 00

AbdEl = 1969 12379 9xd o s oAk 1949 78041
61 Bt} 0.7%2 19 34339 3xdo] Z71s19 <.

g GH = 6479 85584 3x P =
®Th 0.2%¢ 19 1,795%F 83 Qo] 743}

T4k 6499 3547 1314
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M3l =4 CHR0f AF =
T =
Off &kl % Of| AtoH % EP %
s A 85,460,462 100.0 85,444,087 | 100 16,375 0.02
AHFSHA B} 7,211,941 | 84 6,827,581 | 8.0 384,360 5.6
Hts =1} 3,984,161 @ 4.7 4,019,132 | 4.7 A34,971 | ~09

HFESFAEN 13,609,190 | 15.9 13,701,473 | 16.0 £92,283 | 407

HTMEFAEIN 9,729,521 | 11.4 9,668,507 | 11.3 61,014 0.6

EFAHM 10,276,795 | 12.0 10,326,876 | 12.1 A50,081 ~05

S FSEASC N 11,459,623 | 13.4 11,628,982 | 135 £69,359 | A06

ASAEM 8,932,235 | 10.5 9,007,158 | 10.6 AT74923 | 108
SEAHAN 7,201,275 | 84 7,244579 | 85 ~43,304 | A06
R AN 6,129,795 | 7.2 6,188,660 | 7.2 ~58,865 | 210
S48 6,925,926 = 8.1 6,931,139 | 8.1 25213 | A0A
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<E—7> 2USIZTDnl MEASH T (B2l - H3)

- EE S04 z 2
- of| AtoH % Oi| Aol % =710l %
st A 3,984,161 | 100.0 | 4,019,132 | 100.0 | A34971 | A09
AL 9 H| | 3833037 962 3,857,529 | 96.0 | 424492 | A06
SUA S| 151,124 | 3.8 161,603 | 4.0 | A10479 = AB5

3 1,047 9H Aol THad A
SurE 7S AFH] = 1A WA T2 9= FH 2 2957 84
¢ detgon, AT ANE BEAS A DRAT 1Y, 2Es
NARZ 47gle] AT AE S
<E—8> MRAY ZoHLH (B9 : i 2))
MEAI! Ql AlET|= HMAS|=2 | chxofAt s «
AHHEIC S 7|0 AlRIH| 3,833,037 | 3,857,529 | 124492 | ~0.6
BtSOIRT[HIZ=M 551,390 514,880 36,510 7.9
119 Alglabxmnl 29
119 A|OILAT L] RASE 5,387 2429 2958
gts 27 |22d 83,300 37,000 46,300 | 125.1
QIHtE AN
H[A H2is Egae Al
HAZ 10,000 0 10,000
AlAH|ZISCHH]
AHERA | HZE 40,000 0 40,000




(A12883] -3 Axke] A2zt &) 39

(29l : &)
M1s|=d =h= 04 A s &
2 B
of| Atod % of| Atod % | oz | %
g A 13,609,190 | 100.0 | 13,701,473 | 100.0 | 192283 | A07
Adbed745)
N 2,011,094 | 14.8 | 2085902 | 152 | A74808 136
Aldd|
M eoin| | 11,382,096 | 83.6 | 11,399,571 | 83.2 | 17475 402
A2 Er=y| 216,000 | 1.6 216,000 | 1.6

AP B = 3.6%%0 7480%F 8ol Ao, WA= 0.2%
7 o

Q1 1,747 5 o] ekl =

<E—10> HFAIE S

MisAl! 2 AHE7|% 18 | BRI o T
AnpizEs) AoiH| 13,600,190 |13,701,473 = 792283 | A0.7
S5t 1785769 | 1,850,462 | A73,693 | 439
NSECECEE
SATERA olZH| & 91,191 57,271 33,920
TSy
SoiNsRs o BEal N 13,000 0| 13000
2AEEZ 225325 | 226440 | 1,115 | A05
S|
T =EY 5,000 0| 5000




5. AFAMEAEAM M=o Aol
AT FE LA AW AR A A& 4k 979 29521
190 ® Fzeat oiul 06%¢] 61018 4340 F718191 8.
<E—11> HFMELEM MEodtet 72
(B2« &)
His|x=4 SR 0| A s &
- =2
Of| roh % Of| AHoH % Z 2ol %
g A 9,729,521 | 100.0 | 9,668,507 | 100.0 61,014 0.6
AHlaizls)
e e 1,614,967 | 16.6 | 1,534,925 | 15.9 80,042 5.2
Atdd|
A 2o9H| 7,939,754 | 81.6 | 7,958,782 823 ~19,028 | A0.2
2 st=y| 174,800 1.8 174,800 1.8
AFEl= 5.2%¢%0 8,004 2 o]l Frkstl e, &I = 0.2%
Q1 1,902%F 8X Y o] A EH =
<E—12> MEBAIQYH ZHLHA
(B2« &)
5 X S|= x s &
MEARY 3 ME7|= g4 | ehEoat =oioh | ul=
Al ZE5} AleiH] 1,614,967 | 1,534,925 80,042 | 5.2
SRS Zt5} 1,040,725 | 1,087,405 | 146,680 | A4.3
o|FALITH IR
O|BAHICHRoiH| 7,619 6,320 1,299
A EFR2RRY
SRS olZH| 5 89,947 58,146 | 31,801
Adbed |17t 574242 | 447520 | 126,722 | 283
MOX[Ly Al=
ZHH119K|odc) == 130,000 0 | 130,000
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o
o
+
+

0z
x
=
iy
=2
B
0

(Chel @ ALl
5w SR E= 5 Of AF =
- Of| Aol % Of| &bl % ZZtoH %
g A 10,276,795 | 100.0 | 10,326,876 | 100.0 A50,081 AQ5
EEICE P
1,570,999 15.3 1,608,382 15.6 A 37,383 A2.3
AledH|
SHA 2 91H| 8,396,596 81.7 8,409,294 81.4 112,698 A0.2
MR Et=H| 309,200 3.0 309,200 3.0

2 1,269 8%xl¥ o] s+

<E—14> MEAIGYH SHLYA
(Chel - &)
5 X S|= P s 4
MEAIA 3 AT X HMisl=d | E=xojjat TR
AHIEZISE AleiH| 1,570,999 | 1,608,382 | 37,383 | 123
22 245} 1,453931 | 1,507,022 | A53,091 | A35
O|EABITHRfM TR
o|F A8 2| 7,394 6,140 1,254
AE|IERRA2Y
22202 ol7H| S 73,641 42,761 30,880
Adlad |7} 117,068 101,360 15708 | 155
ESPNNESPSTa]
AHIMEX| stETA 20,000 0 20,000
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7. HELATA M=ofaot

A A auA A duks] Al AlEod Aok 1149 59627 33 ¢
O % Tzl H] 0.6%%] 69351 9o FFA4sS =
<E—15> HNHAYAM MEOACH 2
(Chel - &)
M15| =4 S04 AF s A
2 =2
Of| At % Of| Atol % St %
g A 11,459,623 | 100.0 | 11,528,982 | 100.0 AB9,359 | A0.6
= U= AT
2588996 | 226 | 2644648 | 229 AB5652 | 221
Aldd|
YA 4H| 8865627 | 77.4 | 8879334 | 77.0 A13,707 | ~0.2
MR Et=H| 5,000 0.1 5,000 0.1
AdHl = 2.1%¢] 5565W 2310l Ao, dHE-AIY = 0.2%
Q1 1,370%F 7H o] A ES =
<E—16> AMFAIUE ZoHLjHA
(Chel - &)
% —— _ s U
MEAIA 3 AT X HMisl=d | E=xojjat ST
AUk Zist ALRIH| 2,588,996 | 2,644,648 | A55652 | A2.1
At s 235t 1,439,537 | 1,507,853 | ~68,316 | A45
ABlEReYUed
2RIFR e ol7H| S 65,563 39,077 26,486
Akad |7t 1,149,459 | 1,136,795 12,664 1.1
SHH19OMMIE] O 2! Al=
SFAH19OIRMIE] ZIZETA|AE 19,750 0 19,750
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8. A=AUA M=o AMCH
DA AT US| A A EZo Ak 899 3223%F 5 ¢
o7 xdak giH] 0.82%6% 7492% 3 o] TS
<E—17> ASAHEM ME0atot 2
(St @ M9)
M135|=Z4 CF 3R Of AF =z
2 B
0ff ArH % 0ff ArH % Z2tol %
g A 8,932,235 | 100.0 | 9,007,158 | 100.0 A74923 | A0.8
Aukad71s)
1,457,048 | 163 | 1,520,474 | 16.9 AB3,426 @ A42
AbdH|
SH A QOfH| 7250287 | 81.3 | 7,270,784 | 80.7 A11,497 | 202
PN =R 215,900 2.4 215,900 2.4
AL H = 4.2%%) 6,342%F 63 Yol Ao FAEHY = 0.2%
Q1 1,149%F 7H o] A4S =

<E—18> MAlH ZoHLfjod
(Chel : M)
= Z}
MEAKRE H M= = HM1s5:d | 2=0d =5 on E't,lo
= R =
Adr7s) AliH| 1,457,048 | 1,520,474 | 163,426 | 142
A2 Zs 1,301,689 | 1,387,454 | 285,765 | A6.1
A ERRARY
SAUATERR AIF2REH] S 16,467 11,539 4,928
e LR 155,359 133,020 22,339 | 168
A AEH]
SHAESEA HA} KHIX| 12,000 0 12,000
LS
11940 =208k K= 15,000 0 15,000
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9. SEAWAM AM=ojiket

(Bhe @ A l)
M1 =4 CF 3R Of AF = 7

2 =
O &F Y % of| Akol % EPI %
e A 7,201,275 | 100.0 | 7,244,579 | 100.0 A43304 | 106
SEHLE 68186 = 19.0 | 1402846 194 34660 | A 25
AledH| 1,368,18 ' 402,8 ' al A&
M 2| 5833089 | 81.0 5841,733 | 80.6 A8644 | A0

AFdRl = 25%9 3466%Ed o] Fasklor, FFEFHI= 0.1%<!

8641t 471 90] 23S

<E—20> ASAIRIH ZofLjod

MFARY B M| 18 | BRI o T
AU ZESE AlHH| 1,368,186 | 1,402,846 @ 134,660 @ A25
S 435t 1,053,378 | 1,105,116 | A51,738 | Ar47
AHEAL 2 A [FR IR
AKX 2 SALUKIE S 20,000 0| 20,000
o|FALIH M 2 2o
O|FAHIY 2| 10,654 8,840 1,814
A BRI
SAUATF LR ol7dH| 1,881 0 1,881
pN=ml=l=] 888 660 228
A7) 314,808 | 297,730 17,078 | 5.7
ESINONFSESE]
TAE SAIR MR 21,000 0| 21,000
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10. ZIXM A M Zof Aot
A2 A 23 dubs) A AlEd ket 619 29794 5319
o gzt thH] 09%2 58867 5H U] THAEAS
<E—21> FHLWA MZ0latol 72
(Eh9) : ® )
x15] 52 chm0f A = 2
2 B
off Ao % oAb % | ZUA | %
2 A 6,129,795 | 100.0 6,188,660 | 100.0 ~58,865 0.9
egtaiztal
Apoit] 1,039,331 17.0 1,090,044 17.6 A50,713 ~4.7
SHA 2 91H| 4,948,864 80.7 4,957,016 80.1 ~8,152 ~0.2
MFEH=H| 141,600 2.3 141,600 2.3

?l 8157 235 o] ATk dl=.

5,071%F 3x¢lo

| gastgon, ggegrs

0.2%

<E—22> MEAIAE ZoHLyo]
(Ehel : M)
17 = : =z
MIAlR] B AE7|E MSEE | SR oo T
AgrEZist ARd| 1,039,331 | 1,090,044 | AB0,713 | ~47
A2 2] 780,480 830,115 | 249,635 | A59
ABl=ReRi2Y
SUATE2R 27| S 17,720 9,450 8,270
Aded |HZt 258,851 259929 | 21,078 | ~04
HAASES
Bt A SAL 1,800 0 1,800
AR HHEFEAL 1,200 0 1,200
HAICCTVAIx| 5,000 0| 5000
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(M12883] - kel A2zt F5)

Al el AEgE2 269 6,679 2o R TR 269 6,494
THHLHET} 007%<] 1847 53 o

o|\
AN/
>
ol
i)
52
ulo

13| =4 CF 3R Of AF = 7
- B

Of| AtoH % 0f| Akl % S4A %
= A 2,666,792 100.0 2,664,947 100.0 1,845 0.07
M el % ¢l 183,089 | 6.9 183,089 = 6.9 0 0.00
H = Z 1,883,703 = 70.7 1,881,858 | 70.6 1,845 0.09
x o = 600,000 | 22.4 600,000 | 22.5 0 0.00

2= WA g7 0.03%2 227 53 Qo] Ao

H
P 2= 0.15%<) 2070l Z7hE g S
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